
Amity Instructions

www.rotomudscrapers.com

(3 1/16" X 6 5/8" X 3/8" Ubolt)

This Ubolt goes around main axle beam

(C Chanel)

(5/8" Zinc Rod)

Place this rod in front of the hook bolts and

 on top of the main axle beam

(Hook Bolts)

These bolts hook underneath the main axle 

beam and are tightened at the top of the C chanel

(Zinc Angle Iron)

The zinc angle iron is placed under the C chanel 

as far back as possible for extra stability

(3/8 x 1 1/2" Carriage Bolt)

Use 1 1/2" carriage bolt to fasten wings on 

through the C chanel and zinc plate

(1/4" Steel Wing)

Wing support is bolted to the 1/4" wing

Wing support Wing

(Hook Bolts)

(3/8 X 1 1/2" Carriage Bolts)

(3/8 X 1" Carriage Bolts)

These are used to fasten the wing support to the wing



Amity Instructions

www.rotomudscrapers.com

2016 and newer scrapers have the bearing on the inside of the disk

Keep disc 1" away from

 edge of tire

Space disc 1/2" from tire

Due to the fact that Amity has their tires offset, we have extra holes and moon 

shaped slots to adjust the scrapers according to the angles of the tires


